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Guess Paper – 2014
Class – XII
Subject – Mathematics

VECTOR ALGEBRA (7 Marks in board)

1-Mark (3 question in board vectors and 3-D)

1. 
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4. If a line makes 45, 60, with positive direction of x-axis x, y then the angle made with the z axis is - - - 

5. Find the area of the parallelogram whose adjacent sides are determined by the vectors 
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6. The area of the parallelogram having a diagonal 
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7. If 
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8. Find the angle between the vectors 
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9. Find the projection of 
[image: image16.wmf]74263.

ijkonijk

+-++

rrrrrr


10. If 
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11. Find the direction cosines of the line passing through the points ( 1, 3,(2) and (2, (2, 3).

12. Two lines one passing through ( 2, 4,(1) and (2, k, 2) and another passing through ( 1, 3,(2) and (2, (2, 3). Find k so that the line are perpendicular.

13. Find the vector equation and Cartesian equation of the line through the point (3,(4,(2) and parallel to the vector 
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14. Find the vector and Cartesian equation of the straight line passing through the points ((5,2,3) and (4,(3,6).

15. Find the angle between the planes 
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16. Find the angle between the line 
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 and the plane 3x+4y+z+5=0.

17. Find the equation of the line parallel to 
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and passing through the point (1,3,5) in vector form.  

Answers: Vectors 1-marks
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4-Marks (1 question in board)

1. A girl walks 4km towards west, then she walks 3km in a direction 300 east of north and stops. Determine the girl’s displacement from her initial point of departure. [Ans: 
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, prove that 
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3. Show that the points A(1,(2,(8),B(5,0,(2) and C(11,3,7) are collinear, and find the ratio in which B divides AC. [Ans: 2:3]
4. Find a unit vector perpendicular to each of the vectors 
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 respectively form the vertices of a right angled triangle.

7. If 
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8. Three vectors 
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10. If 
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11. Show that the points A( 1, 2, 7) , B(2,6,3) , C(3,10,-1) are collinear.

12. Find the position vector of a point R which divides the line joining the points P and Q whose position vectors are  
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13. Find the area of the triangle whose vertices are A(1,1,1), B(1,2,3) and C(2,3,1).                         (Ans: 
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14. If 
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15. If with reference to the right handed system of mutually perpendicular unit vectors 
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16. If 
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17. Find the volume of the parallelepiped whose edges are 
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18. Show that the vectors 
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19. Find the value of ( so that the vectors 
[image: image92.wmf]ˆˆˆ

23

aijk

=-+

r

 , 
[image: image93.wmf]ˆˆˆ

234

bijk

=-+-

r

 and 
[image: image94.wmf]ˆˆˆ

3

cijk

l

=-+

r

are coplanar (Ans: (=5)
20. Show that four points with position vectors 
[image: image95.wmf]ˆ

67

ij

-

, 
[image: image96.wmf]ˆˆ

16194

ijk

--

, 
[image: image97.wmf]ˆˆ

362510

jkandijk

-++

rr

 are coplanar.

21. Find the value of ( if the points A(-1, 4, -3), B (3, (, -5),                           C(-3, 8, -5) and D( -3, 2, 1 ) are coplanar. (Ans: (=2)
22. For any three vectors 
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23. For any three vectors 
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24. Show that if the vectors 
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25. If the vectors 
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